TK045.600 Rotatable Top Mounted 90° Angle Joint

TX15

TX30

O

SW2.5

O

Mounting View
Montaj Gordnimu

Box Contents

Kutu icerigi
4x [ M6x30
X (= M6x10
4x © 16.4(M6)
o= M4x8

E1x

Scan for the installation manual
Kurulum kilavuzu igin tarayin

_______________________

€@

ADE 4,
RN @

N o
e S

155° Ny,

4

N y
o " 155°

/

Optional 1
Opsiyonel 1

Rotation Limitation
Doniis Sinirlandirma

Rotation Limitation Optlpnal 2
Donus Sinirlandirma Opsiyonel 2

/ \

— =

©

Dy
"

% - 08.5/M8

Ground mounting dimensions
Zemin montaj olglleri

*M8 bolts in the image number 10 are not included in the box contents.

ENCL.ACC.
E510113

GUS

LISTED

*10 numarali gorselde bulunan M8 civatalar kutu igerigine dahil degildir.

https://teknokol.com

@ teknokol@teknokol.com

Q) +90224 4432318

Q

Kayapa, Karanfil Cad Kayapa Sanayi Bolgesi
No:6, 16315 Nillfer/Bursa

TEKNOKOL

Support Arm and Control Panel Systems




